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BACHELOR OF SCIENCE (GENERAL)  

(BSCG)  

Term-End Examination 

June, 2024 

BZYCT-135 : PHYSIOLOGY AND BIOCHEMISTRY 

Time : 2 Hours     Maximum Marks : 50 

Note : Question No. 1 is compulsory. Attempt any four 

questions from Question Nos. 2 to 7. 

1. (a) Fill in the blanks with suitable words : 

1×5=5 

(i) ............. is a type of leucocyte with 

multi-lobed nucleus and phagocytic in 

function. 

(ii) Angiotensin-I enzyme that regulates 

blood pressure is secreted by ............. . 
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(iii) ............. is the functional unit of 

muscle fibre. 

(iv) The deficiency of .................. 

neurotransmitter causes uncontrolled 

muscle contraction in Parkinson’s 

disease. 

(v) The marine environment is ............. to 

invertebrates such as sponges 

occupying that habitat. 

(b) Match the following : 1×5=5 

Column A Column B 

(i) Trypsin (1) Vitamin K 

(ii) Superoxide ion (2) Liver 

(iii) Hexokinase (3) Free radical 

(iv) Hemorrhagic 

factor 

(4) Glucose 

(v) Glycogenesis (5) Pancreas 



 [ 3 ] BZYCT-135 

  P. T. O. 

2. Write short notes on the following : 2×5=10 

(i) Exchange of respiratory gases in the 

alveoli 

(ii) Pheromones 

3. Write differences between the following  

pairs :   2½×4=10 

(i) RBCs and WBCs 

(ii) Membrane Potential and Action Potential 

(iii) ‘Aerobic’ and ‘Anaerobic’ respiration with 

reference to glucose catabolism 

(iv) Molluscan kidney and Malphighian 

tubules 

4. (i) Enlist the four major classes of digestive 

enzymes in animals. 3 

(ii) Describe the digestion of carbohydrates. 7 

5. Explain the molecular basis of muscle 

movement with the help of suitable  

diagrams.  10 
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6. (i) What are allosteric enzymes ? 3 

(ii) Define enzyme inhibition. Explain any one 

type of enzyme inhibition. 7 

7. (i) Name any five water soluble vitamins and 

diseases caused due to their deficiency. 5 

(ii) Describe the reaction catalyzed by enzyme 

Gluthione Peroxidase (GPx). 5 
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(i) 
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(ii) 

I 

 

(iii)  

(iv) 

 

(v) 

]

 

1×5=5

(i) (1) K

(ii) (2) 

(iii) (3) 

(iv) (4) 

(v) (5) 
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2×5=10

(i)

(ii)

2½×4=10

(i)

(ii)

(iii)

(iv)

(i) 

(ii)

(i) 

(ii) 
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(i) 

(ii) (GPx) 
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